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if(a>0) b=—a
if(a<0) b=a
if(a=0) b=a-1
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Int x=30,y=20,z=10;

If (x>y)

{z=x,x=y,y=z;}

(O A.x=20,y=30,2=30 (O B.x=20,y=30,2=10 (O €.x=10,y=20,z=30 (O D.x=30,y=20,2=10
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(O A.a=2a; O B.2a; (O C.a=2*a; (O D.a==2%a;
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int k=0,1,j;
for(i=0;i<5;i++)
for(j=0;j<3;j++)
k=k+1 ;
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O A. di yitalWrite (3, map (analogRead (A0), 0, 1023, 0, 255));
O B. analoglirite (A0, map (analogRead(3), 0, 1023, 0, 255));
O c. analoglirite (3, map (analogRead(A0), 0, 1023, 0, 255));
O b. analogWrite (3, map (analogRead (A0), 0, 255, 0, 1023)):
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() Aif () B.switch (] c.while () D.for
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(] A i+1; (] B.iw=1; (] c.i=i+t; (] D.i++;
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int a=2;
float ¢=1.5, b=1;
a=htc;

b=atc;

(] A.a=2 (] B.a=2.5 (] c.b=3.5 () D.b=45
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